GOBI

RACHS

GENUINE ACCESSORIES

Intelligent Dezigne 2000 Coxp.
Denver, Colorado 80211
v, GOBIRACKS.com

Caidelines:

will asgist you in using the rack foarrier system and will encourage safety.

Using other brands will woid your watrenty.

wvehicle for service, and whenever clearance may be an issue.

speed to the conditions of the road and the load being cared.

exceed their carrying capacity.

Reviewr all instractions carefilly.

INSTALLATION INSTRUCTIONS

GOBI STEALTH ROOF RACK BUNDUTEC AWNING ATTACHMENT

When using Load Cartiers and Accessoties, the user must understatnd the precautions. The poitts listed below

* For quality fits and safty, use ondy the recommended rack or accessory. Do not assume an accessory will fit,
always check with dealer when obtaiting new accessories. Use only approved accessoties on load cartiers.

# Nlake sure all knobs, bolts, screws, straps, and locks are firmdy attached, tightened and locked before every trip.
Enobs, bolts, screws, straps, and locks must be periodically inspected for signs of weat, corrosion, and fatigue.
Check ywour load at stops during the trip to insure contitnaed fastening security.

# Checklocal and state laws governing projection of objects bewound the width of a wehicle. Be awarve of the
widih and height of your cargo since low clearance hranches, hridges, and parking garages can affect the load
&1 cargo will affect the wehdcle's deiving behavior. Mewver drive with any lock, know, ot rack in an open or
urdocked position.  All long loads such as, but not limdted to sailboards, surfboards, kayaks, catioes, and
lumber st be tied down front and rear to the bampers or tow hooks, of the vehicle.

* Remowe your rack accessories when they are not in use, hefore intering car washes, prior to taling in your

o Alllocks must be turned and moved periodically to insure smooth operation. Use graphite or simdlar diy
lubricant to help this. Locks are designed to deter vandalism and theft. Remove waluable gear if wour

vehicle is unattended for an extended period. Place at least one key in the glove compartment.

# For safety to your wehicle and rack system, obey all posted speed limits and traffic cautions. Adapt wour

# Do ot use load carriers and accessories for purposes other than those for which they were designed. Do not

» Consult with your dealer if wou have any gquestions regarding the opetations and limits of this product.

Installation Instructions for GOBI STEALTH RACK BUNDUTEC AWNNING

prervo GEREBAWNA

sHEET ] oF 4




GOBI

RACHS

GENUINE ACCESSORIES

Intelligent Designe 2000 Coxp.
Denver, Colorado 80211
v, GOBIRACKS.com

INSTALLATION INSTRUCTIONS

GOBI STEALTH ROOF RACK BUNDUTEC AWNING ATTACHMENT

Mounting smftace

Included in kit
Letter Description Location Chuantity
A GOBI STEALTH BUNDUTEC AWNING SUPPORT BRACKETS Main box 2
BUNDUTEC AWNING MOUNTING HARDWARE

B CONTENTS: 4-3/8-16x2" 55 Hex head screws Bag #1 1

3- 3/8" Flat washers grade § yellow zinc

4- 3/8 Nylock nut grade 8§ yvellow zinc

Side View Front View
B

Installation Instructions for GOBI STEALTH RACK BUNDUTEC AWNNING

rrrr O GSREEAWNA

SHEET 2 oF 4




G OBI Intelligent Designe 2000 Coxp.
Denver, Colorado 80211

RACKS v, GOBIRACKS.com

GENUINE ACCESSORIES

GOBI STEALTH ROOF RACK BUNDUTEC AWNING ATTACHMENT

INSTALLATION INSTRUCTIONS

The Bundutec Awning can be installed on either side of the
Gobi Stealth roof rack. Refer to Fig. 1 and Fig. 2 below for
placement of support brackets (A) make certain to space
brackets as far apart as possble for best results space apart

approximately 74.5".

Bundutec Awning

Top View
| |
i i
' ra 11 11 Ty
. ) = T
ol 0
i] L
RACK 0 San Roof
FRONT I opening
i}
D =
nis [
L LA =l nF= |
b L H H e
| | .
Fig. 1
A Side View
\ Sii
BACE T ]
FRONT | i i ;
I 1
\ j/ Fig. 2

Bundutec Awning

Installation Instructions for GOBISTEALTH RACK BUNDUTEC AWNNING | razrwo GSRBAWNA| sHEET 3 oF 4




(R ]

GOBI STEALTH ROOF RACK BUNDUTEC AWNING ATTACHMENT

1-

Lower roof

G OBI Intelligent Dezigne 2000 Coxp.
Denver, Colorado 80211

RACKS v, GOBIRACKS.com

INSTALLATION INSTRUCTIONS

Refer to Fig_ 3 and Fig. 4 below swing out pinch clamp (B) and place hook end (C) of support bracket (A)
over the top of the roof rack tubing as shown then swing pinch clamp (B) under roof rack tube and fully
tighten the 3/8 screw, flat washer and nylock nut (D) using a pair of 9/16 hox end or ratchet wrenches.

- Refer to Fig. 5 looking at the back or mounting side of the Bundutec Awning's main alumimmm support

board measure and drill four 7/16" holes two on each end as shown. Make sure to pull the fabric tight and
hold in place when marking and drilling holes. You may want to place a thin piece of 1/8" steel between
the main board and the swing arms of the awning so as not to dnll into the swing arms accidentlly. Once
the holes are drilled nsert four 3/8-16 x 2" hex head screws and 3/3" grade 8 vellow zinc flat washers (F)
located in vour hardware kit into each hole from Awning side to the rear or mounting side as shown in Fig. 3
then fold up the Awing and zip closed.

- Using the help of another lift awning and slip all four 3/8 x 2" screws (F) into the slots of the support brackets

as shown in Fig. 3 then thread on the 3/8" flat washers and Nylock nuts (G), finger tighten only at this time.

- Open the awning and spread out all 6 arms and secure arms in place then fully tighten the awning on both

brackets (A) uisng a pair of 9/16" box end or ratchet wrench.

Top roof
rack tube

B p  Fig3

[n] [u]
7_4 BUNDUTEC AWNING %
' MAIN BACK BOARD o
J_ [u] [u] J—
| |

Fig. 5

Installation Instructions for GOBISTEALTH BEACK BUNDUTEC AWNNING | rartvo GSEBAWNA| SHEET 4 oF 4




	Gobi Stealth roof rack Bundatec Awning attachment install 1
	Gobi Stealth roof rack Bundatec Awning attachment install 2
	Gobi Stealth roof rack Bundatec Awning attachment install 3
	Gobi Stealth roof rack Bundatec Awning attachment install 4

